BUDGET YEAR 2010-2011 W.C.S.D. PURCHASE REQUEST THIS WILL NOT BE PROCESSED IF ALL ITEMS ARE NOT COMPLETED

ACCOUNT CLASSIFICATION

The state of the s	(Ex. Textbooks)	SCHOOL: Central Office		
OFFICIAL USE ONLY		Vendor: (Only One Vendor Per Request)	Within Approved Budget X Yes	res No
# C d	Requested by: R. Green	Name of Vendor: Houghton Mifflin Harcourt	Building Approval:	
Vendor #:	Date requested: 1/31/2011	9205 South Park Center Loop Orlando, FL 32819	Central Office Approval	Principal
Ship to Blda #:	Bldg:#: 35	- Fax: 1-800-269-5232	Date Approved:	Director
	Program: Elem			
WCSD BUN# & ACCT. #	#NBSI	Description/Code Info. & Dates of Subscription (To Run From - To) (Use more than one line if necessary)	Qnty. Unit	Total Price
01 1100 000 00 00 000 / 640	978-0-15-365824-2	Grade K - Practice Books - (set of 12)	21 \$ 207.70 \$	4,361.70
		Grade K - Practice Books - (set of 12)	7 Free \$	I
	978-0-15-359305-5	Grade K - Phonics Practice Books	194 \$ 10.00 \$	1,940.00
		Grade K - Phonics Practice Books	64 Free \$	1
	978-0-15-349872-5	Grade 1 - Practice Book	180 \$ 14.80 \$	2,664.00
		Grade 1 - Practice Book	60 Free \$	***
	978-0-15-349874-9	Grade 2 - Practice Book	178 \$ 14.80 \$	2,634.40
		Grade 2 - Practice Book	59 Free \$	1
	978-0-15-349876-3	Grade 3 - Practice Book	212 \$ 14.80 \$	3,137.60
		Grade 3 - Practice Book	70 Free \$	1
	978-0-15-349878-7	Grade 4 - Practice Book	183 \$ 10.40 \$	1,903.20
		Grade 4 - Practice Book	60 Free \$	1
	978-0-15-349879-4	Grade 5 - Practice Book	198 \$ 10.40 \$	2,059.20
▶		Grade 5 - Practice Book	66 Free \$	1
Reason for Request:	Every 3 purchased, get I free		DO NOT ADD S & H	1870.01
			₩.	20,570.11
If Equipment, Trade-In?	Yes No	Make/Model:		
BUDGET & 2000-L'Alurchase I	BUDGET 082000-M-Urchase Request Mr. Petter Turnquist - Business Administrator (or authorized representative)	itor (or authorized representative)	Robert E. Terrill, Ed. D., Superintendent	dent



Cost Proposal Prepared For

Warren Co School District

185 Hospital Dr North Warren PA 16365

Attention: Marlene Hamrick marlene.hamrick@wcsdpa.org

For the Purchase of:

HSP Storytown 2008-10

Prepared By **Doug Stone** doug.stone@hmhpub.com

PLEASE SUBMIT THIS PROPOSAL WITH YOUR PURCHASE ORDER.



Attention: Marlene Hamrick marlene.hamrick@wcsdpa.org

Expiration Date:3/27/2011

Proposal for Warren Co School District HSP Storytown 2008-10

		•	Sale	Purc	Purchase		nentary
	SBN	Title	Price	Quantity	Amount	Quantity	Value
Grade	K						
Stude	nt						
1188412	9780153658242	Harcourt School Publishers Storytown Practice Book Complete	\$207.70	21	\$4,361.70		
		Set(120) Story Town08 Grade K					
1172718	9780153593055	Harcourt School Publishers Storytown Phonics Practice Book	\$10.00	194	\$1,940.00		
		Student Edition Story Town 08 Grade K		F			
		Totals for Student		\$6,3	01.70		
Teach	ier						
1188412	9780153658242	Harcourt School Publishers Storytown Practice Book Complete	\$207.70			7	\$1,453.90
		Set(120) Story Town08 Grade K					2010.00
1172718	9780153593055	Harcourt School Publishers Storytown Phonics Practice Book	\$10.00			64	\$640.00
		Student Edition Story Town 08 Grade K					
		Totals for Teacher					\$2,093.90
		Totals for Grade K			\$6,301.70		\$2,093.90



Proposal Date: 1/26/2011

Proposal for Warren Co School District HSP Storytown 2008-10

Expiration Date: 3/27/2011

	·	Sale Purchase		Complin	nentary	
ISBN	Title	Price	Quantity	Amount	Quantity	Value
Grade 1 Student 1150336 9780153498725	5 Harcourt School Publishers Storytown Practice Book Student Edition Story Town 08 Grade 1 Totals for Student	\$14.80		\$2,664.00		
Teacher 1150336 9780153498725	· · · · · · · · · · · · · · · · · · ·	\$14.80			60	\$888.00
	Edition Story Town 08 Grade 1 Totals for Teacher			,		\$888.00
=	Totals for Grade 1	- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	district.	\$2,664.00		\$888.00



Attention:
Marlene Hamrick
marlene.hamrick@wcsdpa.org

Expiration Date: 3/27/2011

Proposal for Warren Co School District HSP Storytown 2008-10

			Sale	Puro	hase	Complin	nentary
IS	SBN	Title	Price	Quantity	Amount	Quantity	Value
Grade 2 Studer 1150342	_	Harcourt School Publishers Storytown Practice Book Student Edition Story Town 08 Grade 2 Totals for Student	\$14.80		\$2,634.40 34.40		
Teach 1150342		Harcourt School Publishers Storytown Practice Book Student	\$14.80			59	\$873.20
		Edition Story Town 08 Grade 2 Totals for Teacher					\$873.20
		Totals for Grade 2			\$2,634.40		\$873.20



Attention: Marlene Hamrick marlene.hamrick@wcsdpa.org

Proposal Date: 1/26/2011

Proposal for Warren Co School District HSP Storytown 2008-10

Expiration Date:3/27/2011

		•	Sale	Purc	hase	Complin	nentary
!	SBN	Title	Price	Quantity	Amount	Quantity	Value
Grade Stude							
1150348	9780153498763	Harcourt School Publishers Storytown Practice Book Student Edition Story Town08 Grade 3	\$14.80	212	\$3,137.60	1400-702-701	
		Totals for Student		\$3,1	37.60		
Teach	ner						
1150348	9780153498763	Harcourt School Publishers Storytown Practice Book Student Edition Story Town08 Grade 3	\$14.80			70	\$1,036.00
		Totals for Teacher					\$1,036.00
		Totals for Grade 3			\$3,137.60		\$1,036.00



Proposal for Warren Co School District HSP Storytown 2008-10

Expiration Date:3/27/2011

		•	Sale	Purc	hase	Complin	nentary
19	SBN	Title	Price	Quantity	Amount	Quantity	Value
<u>Grade</u> Stude							
1150354	9780153498787	Harcourt School Publishers Storytown Practice Book Student Edition Story Town 08 Grade 4	\$10.40	183	\$1,903.20		
		Totals for Student		\$1,9	03.20		
Teach	ner						
1150354	9780153498787	Harcourt School Publishers Storytown Practice Book Student Edition Story Town 08 Grade 4	\$10.40			60	\$624.00
		Totals for Teacher					\$624.00
		Totals for Grade 4	- 10 min 4	Address of the second of the s	\$1,903.20		\$624.00



Attention:
Marlene Hamrick
marlene.hamrick@wcsdpa.org

Proposal Date: 1/26/2011

Proposal for Warren Co School District HSP Storytown 2008-10

Expiration	Date:3/27/2011
------------	----------------

		•	Sale	Purc	:hase	Complin	nentary
	SBN	Title	Price	Quantity	Amount	Quantity	Value
Grade Stude 1150357		Harcourt School Publishers Storytown Practice Book Student Edition Story Town 08 Grade 5	\$10.40	198	\$2,059.20		
		Totals for Student		\$2,0	59.20		
Teach	ier						
1150357	9780153498794	Harcourt School Publishers Storytown Practice Book Student Edition Story Town 08 Grade 5	\$10.40			66	\$686.40
		Totals for Teacher					\$686.40
	_	Totals for Grade 5	3 34		\$2,059.20		\$686.40

Proposal	Total Value of Proposal:	\$26,771.61	¢6 204 E0
Summary	Total Complimentary:		\$6,201.50
	Subtotal Purchase Amount:	\$18,700.10	
	Shipping & Handling (10.00%):	\$1,870.01	
	Total Cost of Proposal (PO Amount):	\$20,570.11	



Attention:
Marlene Hamrick
marlene.hamrick@wcsdpa.org

Proposal for Warren Co School District HSP Storytown 2008-10

Expiration Date: 3/27/2011

Total Cost of Proposal (PO Amount):

\$ 20,570.11

Total Value of Proposal:

\$ 26,771.61

Total Savings:

\$ 6,201.50

This is a cost proposal only. Orders submitted under this proposal on or before the expiration date are subject to acceptance at Houghton Mifflin Harcourt's main office and are subject to the applicable terms in Houghton Mifflin Harcourt's invoice issues for such order.

Date of Proposal: 1/26/2011

Proposal Expiration Date: 3/27/2011



Prices: Prices quotes are wholesale school prices and do not include transportation charges unless otherwise stated in this proposal. These wholesale school prices apply to the educational customers of Houghton Mifflin Harcourt. Prices quoted are valid for orders submitted on or before the expiration date set forth in the proposal.

Educational customers are billed at wholesale school price, f.o.b. shipping point, with a prepaid transportation charge and, unless the customer specifically requests otherwise, a charge for our guarantee of delivery is added to the invoice when shipped via U.S. Postal service. For educational customers preferring f.o.b. destination billing, ten percent (10%) of wholesale school price is added and we pay transportation charges and guarantee delivery. Prices do not include any sales tax. Applicable sales tax, if any, will be added to the invoice unless an appropriate tax exemption certificate has been furnished to Houghton Mifflin Harcourt.

FREE MATERIALS: Upon receipt of purchase order, gratis items will be shipped in direct proportion to pupil materials purchased. If purchases vary from those included in this proposal, gratis items will change accordingly. Gratis items may also change if purchase is other than a direct school district to publisher order, such as via a third-party vendor or jobber.



Attention:
Marlene Hamrick
marlene.hamrick@wcsdpa.org